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S M.B.(1) Question Ne.1 is compulsory, o i
f {2) Attempl any four questions out of remaining six questions. -, ;"
{3) Assume any data if required. ;
{4) Figures 1o the right indicate full marks.
20

1. Attempt any five —

{a} Find power suppiied by 10 W source by KCL.

J.M‘T— o 2 Do

(b} Draw the oriented graph from thie tieset matrix given below —
Branches (b) =
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{c) Compute the ABCD — parameters of a two port network if the Y-parameters are -—
¥,; = 0-6 mho, Y, = 0-3 mho, ¥,y = ¥yy = —0:2 mho.
{d) Find condition for reciprocity in h-parameters.
{¢) Check whether the following lunctions are of R-L, R-C or L-C types.
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(f) Find valus of ¥ {8) if V, = 1 — e”® forihe given network.
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2, {a) Find current through 10 0 resistor by Thevenin's theorem.
3.1 5L
e o
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(b} Find I,. 1, and I, by KVL —

0. Dy

{a} Find E, in figure, such that thera is no current thrc:ygh the capacitor,

3,

50

(b) Write incidence, fieset and f-cutset matrix for the given graph,

10

4. fay For e natwor: shown, draw orlented graph and obtain tieset

matrix. Use this matrix to 10
calculate the current 7,
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{b} Detarmine I, 1, i, %1'1-2— and %t! att= 0+, 10
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(a) Find (i) V., (0%, i{0*) and {0~) 10

() Time constant for t = 0, and
(i} i{t) for t = 0.

t=o | émh‘.ﬂ
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Vet —T" 2uf i® =

i 5V,

{B) A serles RLC circuit with R = 3 £, L=1Hand C = 0:5 F iz excited by a unit-step voltage. 10
Obtain the expression for eurrent using Laplace transform, Assume that the gircuit was
initially relaxed,

{a) Find the driving polnt impedance Z{s) of the network =hown in figure. Locate the poles 10
and zeros of Z{s) in s-plane. If the voltage Vit) = e is appiied at the terminals A - B at
t =0, determing the currant through the resistance of 2 0 in time domain.
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B} For the given network determine Y-paramelers using interconnaction of two-port rietworks, 10
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7. (8} Check whether the funetion .'f:-[s_} =-m IS8 positive real function.

8[s® + 1) (8% + SJI ; :
; 5{52 +E} {sa +4]' Realize in Fostar-|. Foster-If and Cauer-| form. 15

(b} Animpedance is Z(s) =

|1:



